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1 What is a photon?
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2 Do all observers agree on the energy of a photon?

E s k wf -ht)
consistent w l special relativity:

IN frame S , E = h w = Kkk) , p=kk=Etc

r a m . " .

" " ' e s t

In frame 5 ' removing a t vet. v=cB relative to5 :

E '= y (E-p-cp)
→ s '¥I¥Ija#¥gE

cditto:p's'ftp.P/='I3Tpf#pFE=fIpE-
eEer.*e,

→

" " ' "' "



3 Describe the photoelectric e↵ect.
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4 If a photon of wavelength � = 100 nm is incident on a metal, you see
electrons of kinetic energy 8 eV emitted. Will electrons be emitted if
� = 400 nm? Recall that 1 J ⇡ 1.6⇥ 10�19 J.
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